

## A NOTE ON A SUM OF POWERS OF $q$ -INTEGERS OF SKIP COUNT BY $k$

DMITRY V. DOLGY AND JIN-WOO PARK

**ABSTRACT.** In this paper, we introduce a generalized type 2  $q$ -Bernoulli polynomials and a generalized type 2  $q$ -Euler polynomials, and the power sum of  $q$ -integers of skip count by  $k$  and the alternating sum of powers of  $q$ -integers of skip count by  $k$  can be represented by the generalized type 2  $q$ -Bernoulli numbers and generalized type 2  $q$ -Euler numbers.

**2010 MATHEMATICS SUBJECT CLASSIFICATION.** 33E20, 05A30, 11B83, 11S80.

**KEYWORDS AND PHRASES.** Bosonic  $p$ -adic  $q$ -integral, fermionic  $p$ -adic  $q$ -integral, generalized type 2  $q$ -Bernoulli polynomials, generalized type 2  $q$ -Euler polynomials.

### 1. INTRODUCTION

Let  $p$  be a given prime number. Throughout this paper,  $\mathbb{Z}_p$ ,  $\mathbb{Q}_p$ , and  $\mathbb{C}_p$  denote the ring of  $p$ -adic integers, the field of  $p$ -adic rational numbers, and the completions of algebraic closure of  $\mathbb{Q}_p$ , respectively. The  $p$ -adic norm is normalized as  $|p|_p = \frac{1}{p}$ .

Let  $q \in \mathbb{C}_p$  be an indeterminate with  $|q - 1|_p < p^{-\frac{1}{p-1}}$ . Then the  $q$ -analogue of number  $x$  are defined as

$$[x]_q = \frac{1 - q^x}{1 - q}.$$

Note that  $\lim_{q \rightarrow 1} [x]_q = x$  for each  $x \in \mathbb{Z}_p$ .

The *Bernoulli polynomials* are defined by the generating function to be

$$\frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (\text{see [?]}).$$

In the special case  $x = 0$ ,  $B_n = B_n(0)$  are called the *Bernoulli numbers*.

Bernoulli number is one of the very important numbers in combinatorics as well as special function theory (see [6, 7, 8]). In particular, it is well-known that for a give positive integer  $k$ ,

$$0^k + 1^k + 2^k + \cdots + (n-1)^k = \frac{1}{k+1} (B_{k+1}(n) - B_{k+1}), \quad (n \geq 1).$$

Kim showed the power sums of consecutive nonnegative  $q$ -integers can be represented by the  $q$ -Bernoulli integers in [9].

Kim and Kim defined *type 2 Bernoulli polynomials* as follows

$$(1) \quad \frac{t}{e^t - e^{-t}} e^{xt} = \sum_{n=0}^{\infty} b_n(x) \frac{t^n}{n!},$$

and, found relations between some special functions or numbers and those polynomials (see [4, 5]). In [4], authors defined the type 2  $q$ -Bernoulli polynomials and type 2  $q$ -Euler polynomials and show that

$$(2) \quad \sum_{l=0}^{n-1} q^{2l+1} [2l+1]_q^m = \frac{1}{2(m+1)} (b_{m+1,q}(2n) - b_{m+1,q}),$$

and

$$(3) \quad \sum_{l=0}^{n-1} (-1)^l q^l [2l+1]_q^m = \frac{q^n E_{m,q}(2n) + E_{m,q}}{[2]_q},$$

where  $b_{n,q}(x)$  and  $E_{n,q}(x)$  are the *type 2  $q$ -Bernoulli polynomials* and *type 2  $q$ -Euler polynomials*, respectively.

In viewpoint of (2) and (3), we want to know that the sum of powers of  $q$ -integers of skip count by  $k$

$$q[1]_q^m + q^{k+1}[k+1]_q^m + q^{2k+1}[2k+1]_q^m + \cdots + q^{kn-1}[kn-1]_q^m = ?,$$

and the alternating sum of powers of  $q$ -integers of skip count by  $k$

$$q[1]_q^m - q^{k+1}[k+1]_q^m + q^{2k+1}[2k+1]_q^m + \cdots + (-1)^{n-1} q^{kn-1}[kn-1]_q^m = ?.$$

In this paper, we define a generalized type 2  $q$ -Bernoulli polynomials and a generalized type 2  $q$ -Euler polynomials, and show that the sum of powers of  $q$ -integers of skip count by  $k$  and the alternating sum of powers of  $q$ -integers of skip count by  $k$  are related to closely generalized type 2  $q$ -Bernoulli numbers and generalized type 2  $q$ -Euler numbers.

## 2. A GENERALIZED $q$ -BERNOULLI POLYNOMIALS AND NUMBERS

Let  $UD(\mathbb{Z}_p)$  be the set of all uniformly differentiable on  $\mathbb{Z}_p$ . For  $f \in UD(\mathbb{Z}_p)$ , the *bosonic  $p$ -adic  $q$ -integral on  $\mathbb{Z}_p$*  are defined by the Kim as follows:

$$(4) \quad I_q(f) = \int_{\mathbb{Z}_p} f(x) d\mu_q(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_q} \sum_{x=0}^{p^N-1} f(x) q^x, \quad (\text{see [2, 3]}).$$

By (4), we have

$$(5) \quad q^n I_q(f_n) - I_q(f) = (q-1) \sum_{l=0}^{n-1} q^l f(l) + \frac{q-1}{\log q} \sum_{l=0}^{n-1} q^l f'(l),$$

for each positive integer  $n$  where  $f'(0) = \left. \frac{df(x)}{dx} \right|_{x=0}$ .

Let  $k$  be a given nonnegative integer. As a generalization of the type 2  $q$ -Bernoulli polynomials, we define the *type  $k$   $q$ -Bernoulli polynomials* to be

$$(6) \quad \mathcal{B}_{n,k,q}(x) = \int_{\mathbb{Z}_p} q^{-y} [ky+x+1]_q^n d\mu_q(y) \quad (n \geq 0).$$

In the special case  $= 0$ ,  $b_{n,k,q} = \mathcal{B}_{n,k,q}(0)$  are called the *type  $k$   $q$ -Bernoulli numbers*.

By (6), we see that the generating function of generalized type 2  $q$ -Bernoulli polynomials are

$$(7) \quad \sum_{n=0}^{\infty} B_{n,k,q}(x) \frac{t^n}{n!} = \int_{\mathbb{Z}_p} q^{-y} e^{[ky+x+1]_q t} d\mu_q(y).$$

From (4), we have

$$(8) \quad \begin{aligned} \mathcal{B}_{n,k,q} &= \frac{1}{(1-q)^n} \sum_{l=0}^n \binom{n}{l} (-q)^l \frac{kl}{[kl]_q} \\ &= \frac{kn}{(1-q)^{n-1}} \sum_{l=1}^n \binom{n-1}{l-1} (-q)^l \sum_{m=0}^{\infty} q^{klm} \\ &= \frac{kn}{(1-q)^{n-1}} \sum_{l=0}^{n-1} \binom{n-1}{l} (-q)^{l+1} \sum_{m=0}^{\infty} q^{km(l+1)} \\ &= \frac{-kn}{(1-q)^{n-1}} \sum_{m=0}^{\infty} q^{km+1} \sum_{l=0}^{n-1} \binom{n-1}{l} (-q^{km+1})^l \\ &= -kn \sum_{m=0}^{\infty} q^{km+1} \left( \frac{1-q^{km+1}}{1-q} \right)^{n-1} \\ &= -kn \sum_{m=0}^{\infty} q^{km+1} [km+1]_q^{n-1}. \end{aligned}$$

Hence, by (8), we obtain the following theorem.

**Theorem 2.1.** *For each nonnegative integer  $n$ , we have*

$$\begin{aligned} \mathcal{B}_{n,k,q} &= \frac{1}{(1-q)^n} \sum_{l=0}^n \binom{n}{l} (-q)^l \frac{kl}{[kl]_q} \\ &= -kn \sum_{m=0}^{\infty} q^{km+1} [km+1]_q^{n-1}. \end{aligned}$$

By the Theorem 2.1, the generating function of the type  $k$   $q$ -Bernoulli numbers can be derived as follows:

$$(9) \quad \begin{aligned} \sum_{n=0}^{\infty} \mathcal{B}_{n,k,q} \frac{t^n}{n!} &= -kt \sum_{n=1}^{\infty} \sum_{m=0}^{\infty} q^{km+1} [km+1]_q^{n-1} \frac{t^{n-1}}{(n-1)!} \\ &= -kt \sum_{m=0}^{\infty} q^{km+1} e^{[km+1]_q t}. \end{aligned}$$

Since

$$(10) \quad [ky+x+1]_q = q^x [ky+1]_q [x]_q,$$

by (6) and (10), we see that

$$\begin{aligned}
 \mathcal{B}_{n,k,q}(x) &= \int_{\mathbb{Z}_p} q^{-y} [ky + x + 1]_q^n d\mu(y) \\
 (11) \quad &= \int_{\mathbb{Z}_p} q^{-y} \sum_{l=0}^n \binom{n}{l} q^{lx} [ky + 1]_q^l [x]_q^{n-l} d\mu_q(y) \\
 &= \sum_{l=0}^n \binom{n}{l} q^{lx} \mathcal{B}_{l,k,q}[x]_q^{n-l}.
 \end{aligned}$$

By the similar calculations of (8), we note that

$$\begin{aligned}
 \mathcal{B}_{n,k,q}(x) &= \frac{1}{(1-q)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l q^{(x+1)l} \frac{kl}{[kl]_q} \\
 (12) \quad &= -kn \sum_{m=0}^{\infty} q^{km+x+1} [km+x+1]_q^{n-1},
 \end{aligned}$$

for each nonnegative integer  $n$ .

Note that the generating function of the type  $k$   $q$ -Bernoulli polynomials are

$$\begin{aligned}
 \sum_{n=0}^{\infty} \mathcal{B}_{n,k,q}(x) \frac{t^n}{n!} &= -kt \sum_{n=1}^{\infty} \sum_{m=0}^{\infty} q^{km+x+1} [km+x+1]_q^{n-1} \frac{t^{n-1}}{(n-1)!} \\
 (13) \quad &= -kt \sum_{m=0}^{\infty} q^{km+x+1} e^{[km+x+1]_q t}.
 \end{aligned}$$

By (5), we have

$$\begin{aligned}
 (14) \quad &\mathcal{B}_{m,k,q}(kn) - \mathcal{B}_{m,k,q} \\
 &= \int_{\mathbb{Z}_p} q^{-y} [ky + kn + 1]_q^m d\mu_q(y) - \int_{\mathbb{Z}_p} q^{-y} [ky + 1]_q^m d\mu_q(y) \\
 &= (q-1) \sum_{l=0}^{n-1} q^l \left( q^{-l} [kl+1]_q^m \right) + \frac{q-1}{\log q} \sum_{l=0}^{n-1} q^l \left( -q^{-l} \log q \frac{(1-q^{kl+1})^{m-1}}{(1-q)^m} (1 - q^{kl+1} + kmq^{kl+1}) \right) \\
 &= km \sum_{l=0}^{n-1} q^{kl+1} [kl+1]_q^{m-1}.
 \end{aligned}$$

Hence, by (14), we obtain the following theorem.

**Theorem 2.2.** *For each nonnegative integer  $m$  and each positive integer  $n$ , we have*

$$\sum_{l=0}^{n-1} q^{kl+1} [kl+1]_q^m = \frac{1}{k(m+1)} (\mathcal{B}_{m+1,k,q}(kn) - \mathcal{B}_{m+1,k,q}).$$

In the special case of the Theorem 2.2, if we put  $k = 2$ , then we obtain the following corollary which is the Theorem 2.2 in [8].

**Corollary 2.3.** For  $m \geq 0$  and  $k \in \mathbb{N}$ , we have

$$\frac{1}{m+1} (\mathcal{B}_{m+1,q}(kn) - \mathcal{B}_{m+1,q}) = \sum_{l=0}^{n-1} q^{kl+1} [kl+1]_q^m.$$

By (11) and the Theorem 2.2, we get

$$\begin{aligned} (15) \quad & \sum_{l=0}^{n-1} q^{kl+1} [kl+1]_q^m \\ &= \frac{1}{k(m+1)} \left( \sum_{l=0}^{m+1} \binom{m+1}{l} q^{knl} \mathcal{B}_{l,k,q} [kn]_q^{m+1-l} - \mathcal{B}_{m+1,k,q} \right) \\ &= \frac{1}{k(m+1)} \left( \sum_{l=0}^m \binom{m+1}{l} q^{knl} \mathcal{B}_{l,k,q} [kn]_q^{m+1-l} + (q-1) [kn(m+1)]_q \mathcal{B}_{m+1,k,q} \right), \end{aligned}$$

and thus, we obtain the following corollary.

**Corollary 2.4.** For each nonnegative integer  $m$  and each positive integer  $n$ , we have

$$\begin{aligned} & \sum_{l=0}^{n-1} q^{kl+1} [kl+1]_q^m \\ &= \frac{1}{k(m+1)} \sum_{l=0}^m \binom{m+1}{l} q^{knl} \mathcal{B}_{l,k,q} [kn]_q^{m+1-l} + \frac{(q-1)}{k(m+1)} [kn(m+1)]_q \mathcal{B}_{m+1,k,q}. \end{aligned}$$

### 3. A GENERALIZED $q$ -EULER POLYNOMIALS AND NUMBERS

In this section, we consider the alternating sum of powers of  $q$ -integers of skip count by  $k$  :

$$\sum_{l=0}^{n-1} (-q)^l [kl+1]_q^k = [1]_q^k - q[k+1]_q^k + q^2[2k+1]_q^k - \cdots + (-1)^{n-1} q^{n-1} [2n-1]_q^k.$$

Let  $p$  be a given odd prime number, and let  $C(\mathbb{Z}_p)$  be the set of all continuous functions on  $\mathbb{Z}_p$ . For  $f \in C(\mathbb{Z}_p)$ , The *fermionic  $p$ -adic  $q$ -integral* are defined as follows:

$$(16) \quad I_{-q}(f) = \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q}} \sum_{x=0}^{p^N-1} f(x) (-q)^x, \quad (\text{see [?]}).$$

By (16), we see that

$$(17) \quad q^n I_{-q}(f_n) + (-1)^{n+1} I_{-q}(f) = [2]_q \sum_{l=0}^{n-1} (-1)^{n-l-1} q^l f(l), \quad (\text{see [?]}).$$

In viewpoint of (7), we introduce a *generalized type 2  $q$ -Euler polynomials* which are defined by the generating function to be

$$(18) \quad \sum_{n=0}^{\infty} \mathcal{E}_{n,k,q}(x) \frac{t^n}{n!} = \int_{\mathbb{Z}_p} e^{[ky+x+1]_q t} d\mu_{-q}(y).$$

In the special case  $x = 0$ ,  $\mathcal{E}_{n,k,q} = \mathcal{E}_{n,k,q}(0)$  are called a *generalized type 2  $q$ -Euler numbers*.

By (18) and (16), we see that

$$\begin{aligned}
 \mathcal{E}_{n,k,q}(x) &= \int_{\mathbb{Z}_p} [ky + x + 1]_q^n d\mu_{-q}(y) \\
 (19) \quad &= \frac{q+1}{(1-q)^n} \sum_{l=0}^n \binom{n}{l} \frac{(-1)^l q^{(x+1)l}}{1+q^{kl+1}} \\
 &= (1+q) \sum_{l=0}^{\infty} (-q)^l [kl+x+1]_q^n.
 \end{aligned}$$

In addition, by (18), we get

$$(20) \quad \sum_{n=0}^{\infty} \mathcal{E}_{n,k,q}(x) \frac{t^n}{n!} = [2]_q \sum_{l=0}^{\infty} (-q)^l e^{[kl+x+1]_q t}.$$

Furthermore, by (10), we get

$$\begin{aligned}
 \mathcal{E}_{n,k,q}(x) &= \int_{\mathbb{Z}_p} [ky + x + 1]_q^n d\mu_{-q}(y) \\
 (21) \quad &= \sum_{l=0}^n \binom{n}{l} q^{xl} [x]_q^{n-l} \int_{\mathbb{Z}_p} [ky + 1]_q^l d\mu_{-q}(y) \\
 &= \sum_{l=0}^n \binom{n}{l} q^{xl} [x]_q^{n-l} \mathcal{E}_{l,k,q}.
 \end{aligned}$$

By (19), (20) and (21), we obtain the following theorem.

**Theorem 3.1.** *For each nonnegative integer  $n$ , we have*

$$\begin{aligned}
 \mathcal{E}_{n,k,q}(x) &= \frac{[2]_q}{(1-q)^n} \sum_{l=0}^n \binom{n}{l} \frac{(-1)^l q^{(x+1)l}}{1+q^{kl+1}} \\
 &= [2]_q \sum_{l=0}^{\infty} (-q)^l [kl+x+1]_q^n \\
 &= \sum_{l=0}^n \binom{n}{l} q^{xl} [x]_q^{n-l} \mathcal{E}_{l,k,q},
 \end{aligned}$$

and

$$\sum_{n=0}^{\infty} \mathcal{E}_{n,k,q}(x) \frac{t^n}{n!} = [2]_q \sum_{l=0}^{\infty} (-q)^l e^{[kl+x+1]_q t}.$$

By (17), we get

$$\begin{aligned}
 (22) \quad & q^n \int_{\mathbb{Z}_p} [ky + kn + 1]_q^n d\mu_{-q}(y) + (-1)^{n+1} \int_{\mathbb{Z}_p} [ky + 1]_q^n d\mu_{-q}(y) \\
 &= [2]_q \sum_{l=0}^{n-1} (-1)^{n-1-l} q^l [kl+1]_q^n, \quad (n \geq 1).
 \end{aligned}$$

In particular, if we put  $n = 1$ , we see that

$$(23) \quad q\mathcal{E}_{n,k,q}(k) - \mathcal{E}_{n,k,q} = (1+q), \quad (n \geq 0).$$

Let  $n$  be a positive odd integer. Then by (22), we see that

$$(24) \quad \begin{aligned} & q^n \int_{\mathbb{Z}_p} [ky + kn + 1]_q^l d\mu_{-q}(y) + \int_{\mathbb{Z}_p} [ky + 1]_q^l d\mu_{-1}(y) \\ &= (1+q) \sum_{m=0}^{n-1} (-q)^m [km + 1]_q^l. \end{aligned}$$

By the definition of generalized type 2  $q$ -Euler polynomials and (24), we obtain the following theorem.

**Theorem 3.2.** *For each odd positive integer  $n$  and each nonnegative integer  $l$ , we have*

$$\sum_{m=0}^{n-1} (-1)^m q^m [km + 1]_q^l = \frac{q^n \mathcal{E}_{l,k,q}(kn) + \mathcal{E}_{l,k,q}}{1+q}.$$

#### 4. ACKNOWLEDGMENTS

This work was supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) NRF-2020R1F1A1A01075658.

#### REFERENCES

- [1] T. Kim, *On explicit formulas of  $p$ -adic  $q$ -integral  $L$ -functions*, Kyushu J. Math., **48** (1994), no. 1, 73-86.
- [2] T. Kim,  *$q$ -Volkenborn integration*, Russ. J. Math. Phys., **9** (2002), no. 3, 288-299.
- [3] L. Comtet, *Advanced Combinatorics*, Reidel, Dordrecht, 1974.
- [4] D. S. Kim, T. Kim, H. Y. Kim and J. Kwon, *A note on type 2  $q$ -Bernoulli and type 2  $q$ -Euler polynomials*, J. Inequal. Appl., **2019** 2019:181.
- [5] T. Kim and D. S. Kim, *A note on type 2 Changhee and Daehee polynomials*, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM, **113** (2019), no. 3, 2783-2791.
- [6] T. Arakawa, T. Ibukiyama and M. Kaneko, *Bernoulli numbers and zeta functions. With an appendix by Don Zagier*, Springer, Tokyo, 2014.
- [7] S. Roman, *The umbral calculus*, Dover Publ. Inc. New York, 2005.
- [8] G. A. Andrews, R. Askey and R. R. Richard, *Special functions*, Dover Publ. Cambridge University Press, Cambridge, 1998.
- [9] T. Kim, *Sums of powers of consecutive  $q$ -integers*, Adv. Stud. Contemp. Math. (Kyungshang) **9** (2004), no. 1, 15-18.

HANRIMWON, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA.  
*Email address:* dvdolgy@gmail.com

DEPARTMENT OF MATHEMATICS EDUCATION, DAEGU UNIVERSITY, 38453, REPUBLIC OF KOREA.  
*Email address:* a0417001@daegu.ac.kr